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CLASS-XII 
HISTORY 

 (Only for Differently Abled Students) 
(2022-23)  

Time : 3 Hrs         Theory:   80 Marks  
              Internal Assessment:   20 Marks 
                Total:    100 Marks 

STRUCTURE OF QUESTION PAPER 
1. All questions are compulsory. 
2. The question paper will comprises 5 sections A, B, C, D and E. The 

question paper will carry:  
SECTION- A 

Multiple Choice Type Question: Question No. 1 comprises of 20 sub parts 
(questions) I to X carry 2 marks each. This section comprises questions with 
multiple choice type questions.     10×2= 20     

SECTION- B 
Objective Type Questions: Question No. 2 comprises of 10 sub parts 
(questions). I to X carry 1 mark each. This section comprises fill in the 
blanks/ match it and true or false type questions.  10×1= 10    

SECTION- C 
 Short Answer Questions: Question No.3 comprises of 8 sub parts 
(questions) ( 5 questions from part A and 3 questions from part B of syllabus  
)I to VIII carry 3 marks each. Students have to attempt any 5 Questions out 
of Eight. Answer to each question should be in about 25-30 words.                                                     

                5×3= 15 

SECTION- D 
Source (passage) Based Questions: Question No.4 comprises 2 Source 
(passage) Based Questions with 5 objective type questions of 2 marks for 
each sub part.                                   2×10= 20 

SECTION- E 
Map Question: Question No.6 comprises one question of map carries 15 
marks (10 marks for showing 5 places and 5 marks for explanation of those 
places to be written in 20 to 25 words) with 100% internal choice. 
Alternate question or note about places will be asked to attempt for visual impaired students.            
          10+5 =15 

Question wise Break up 
Type of Question Number of 

Questions  

Marks Per Question Total Marks 

Multiple Choice 

(Learning checks) 

10 2 20 

Objective Type 

(Learning checks) 
10 1 10 

Short answer(SA) 5(8) 3 15 

Source Based 

question  

2 10 (2marks each) 20 

Map Skills Based 1(2) 10+5 15 

Total   80 

 


